QR B — 1522 (1) |

3 Ll
—— K%
- —— A%
g ? — — (R MEFIBE
Elll
251
1§
//’//‘\\\“—-~

0 4"‘=-‘=h'- L ‘Al L ‘Al L ‘Al L ”4 : 7 : 7 ¥ . . r 9
43 44 45 46 47 48 49 50 51 52 1 2 3

B (GB)

QRS B — 152 R(4) |

—— AL —F
—=—FEO¥R

/A\_\_//\'\\
0 %\AAAAAAT\\!/:

\ g \ g ° ° \ g \ g ° \ g

43 44 45 46 47 48 49 50 51 52 1 2 3
B4 (GA)

-

1RESY (N)
N

| IEBR S R — A5V R(2) |

g . —— Kz
—=— RITHEETERE -
26 — — BEERRE \ \
= =
L)
0 ———p——a—h -
43 44 45 46 47 48 49 50 51 52 1 2 3

BN GRD

QBRI BRI S — A5 Z(5) |

60 -
—— AT LI
~ —— BRI BB A
40 — — RSERE
>
%
1
=90
0 Ly TR—_ g T— ! — A — A S ‘Al T i Ne— \ |
43 44 45 46 47 48 49 50 51 52 1 2 3
Bif GA)

‘ fJ“f‘tﬁi‘mjﬂ@%Eﬂ_’\'fa:/X(S) I —0—§E 1%
Z

s —— RRHR

/'\._.\ —— 7T/

1 ﬁ_l%'%élU()\)

43 44 45 46 47 48 49 50 51 52 1 2 3
BAGA)

OA VTN HFARPDLIEEF-TEL ) TT
O WHEBYYEN D LToMx TETW\WET
OFMaa A NVAKYGEL D L TExE LT~

X N NREES ®E3@B(1./13~1,719)




